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Note :— Answers may be written either in English or in Hindi; but
_Ih:é same medium should be used throughout the paper.
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- This paper is divided .in four Sections: A, B, C i
and D. Section A is compulsory. Attempt any two
questions from each Sections B, C and D.
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SECTION A (¥/r %)

1. You are facmg east. To face north you will turn

clockwise by _______~ degrees

A T R AR TE TR W T IR AN T T D
forg am wfeorad Rl @@

2. _vCo'nver-t 78 in base ten to an equiﬁalent in base 12.
MW%’ 78a%mwgwmmaﬁgifaaﬁvl

3. Drawa t:]e with no stralght edge that tessellates and

show its tessellatlon

@mﬁa@ﬁ@ﬁqmaﬂéﬁﬁm@wwaaﬂt
ae?ﬁézm'e‘fueﬁ%ﬁﬂmﬁmﬁhaﬁﬁm

4.  State two patterns that one can sce in a four column -

number chart starting with zero.

wwmmﬁ%m%mﬁ@%ﬂﬁﬁw
W W owwR T

5. 45% students of a class are boys. Express the ratio
of boys to girls in the simplest form.

Wm%%%a@%%ummﬁaﬁﬂm',
%maﬁ—oﬂaﬁaﬁﬁmu '
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6.

A rectangle with edgés 6 cm and 3 ¢m has same area
and perimeter. Write the dimensions of another
rectangle that satisfies the same property.

6 cm 3R 3 cm FHIY T W W ANET IR TR T
1 T AR T v IR e o ward v ey ) ‘

Amita is x years older than Meenu who is y years

“old. How old will Amita be in 6 years ?

ﬁqyaﬁﬁ%aﬂwﬁmﬁqaxa&aﬁ‘ma&m.
i ang%ﬁﬁrwmﬁ? |

A polygon which can be divided into fhree triangles

“will have _______ sides.

Wwaﬁ,ﬁ%%ﬁ?ﬁgﬁiﬁmﬁw_mmé,

e YW Bl

The objects on the scale make it balance exactly. On
the feft pan there is a tkg weight (mass) and half the
brick. On the right pan there is one’ bnck What s the
wenght (mass) of one brick ?
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10.

It

mﬁmu&’raq&wﬁa:m@%nﬁ&ﬁ?%qé%ff i kg
YR (7ame) i gl fo @ ) o AR @ U W uw

e @ B uw T oW R (FEme) W oe 7

@]

Draw a net of a playing dice showing its markings.

WA A TR & A R Iua P W weffe wwa ge
ECiii el

Volume of a cube made by joining 8 small cubes of -
edges 3 cm is

3cm%&aﬁ8@%ﬁ'ﬁ@mm'wwaﬂ
JaET __ # - ()

SECTION B (w1 @)

There is one symbol that we have in Hindu-Arabic
system but not in Egyptian system. With the help of
examples explain why this symbol is so important.
Compare how the presence of this symbol affects the
computational process' of addition and subtraction in
both the systems.
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3.
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" Make word problems to differentiate between :

(a) Complementary Addition and Comphmentary
Subtraction

(b) Equal sharing and Equal grouping
freafofes ¥ s =3 @ foe v 9wt TRy
(%) wE A ek TEF e

(w)m%ﬁaﬁaﬂtww

In 4 type and token system of Base 8 the following
lypes were used in order $, & and #

(a) What does each type stand for?
(b} When will the next type be needed ?

(¢) Write the equwalent of 164 in this. system

ms%wmaﬁr&m%ﬁrﬁa&%s&aﬁt#

¥ PR ol @ e A Ry

(F) % ou fraet =am a2 7

(@), st TrEw & wwwvEEE 6 7

(M) == v # 164 & wagen =it Tk I (2x4=8)-
‘P.T.O.
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SECTION C (#®1 )

1. The graph below shows the coordinates of a square.
Scale all the sides of the square by a factor of 2.and
reflect it along the y-axis. What are the coordinates
of the new rectangle ? By what factor has the area

increased ?
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2.  Repeat the given square ‘tiIe 4 times to make patterns
using :
~ (a) Reflection (b) Rotation of 90°
Ry ww sfEr ega = 4@&?%@@&?%&%&
F TR W et T
o
(%) wadT (@) 90° ¥

P.T.O.
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3. Draw the views of the three dimensional blocks as

<

seen from points A, B, C and D.

B (2x4=8)
SECTION D (s =)

1.  During the practice for Commonwealth high jumps,
each athlete had 15 trial jumps. The following graphs-'
show the number of times €ach athlete jumped a
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distance from 60 to 64 inches. By reading the graph

.

answer the following :

Athlete A " Athletc B ' .Athlete C

Numbcr ol Jumps
— 9w s ot

Number of Jumps

Number of Jumps
— Rk ko

60 61 62 63 64 60 61 62 63 64
Height in inches Height in inches Height in inches

(a) Find the Mean of all the three athletes.

"(b) Which athlete do you think will win the
Commonwealth high jump and why ? -

R R S S
N 15 g ue @ | el T, T R @
60 ¥ 64 39 A g0 BN AR R N T, wefiia =@ 2
TE W FAAT TR FERRE e @ 9w ARr

. Athlete A Athlete B Athlete C
g 3 2 R
E g E 4
o | = -
o3 o o3
o u
£> £ £>
ra | i Z < e 7
60 61 62 63 64 60 61 62 63 64 60 61 62- 63 64
Height in inches Height in inches Height in inches

(%) S el w1 A T AR |
(@) smd fem ¥ wE faerd weHsa SR 9w ¥ A

B SR = 7 P.T.O.
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2.  First three stages of a growing pattern is shown below -

Stage I . Stage 2 Stage 3

(a) How many dots are needed for Stage 4 if the
sequence is extended.

(b) Explain a way to find the number of dots needed
to make the 50th stage.

(c)_A]f there are 39 dots, how big a T can be made ? -
Will there be some left out dots not included. in .
the T ? -

N N A o/ Al o

W%
e | FgET 2 3R 3

I-(a;) m4%mﬁmﬁﬁgﬁaﬁméﬁuﬁww
= I mmn

(@ )Soﬁmaﬁaﬂﬁ%mﬁg@aﬁmmmﬁ
%aﬁ%aﬁmaﬁmi

(n) af 39 g & T R 7@ T w0 W ww F 7oA
w5 fig o Wi R T ¥ o 78 frer w2 7
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3. A man left at 10;00 am from his home to visit his
friend. The graph below represents part of his journey.
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The man traveled 25 km then stopped for lunch.
(a) At what time did he stop for lunch ?
(b) Find his distancé from home at 3 pm. .

(c) The man reached his friend’s home at 4 pm. He
stayed there ‘for 1 hour. Then he returned home
at a steady speed. It took him 3 hours. Comple"te
the travel graph. 7 P.T.;L).
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For Visually Challenged Students

There are two Sections in this paper: A and B.

Both the Sections are compulsory.

Do -any six questions from Section B.

Ffedin ol @ fg
AT F @ I B ® Ak @
gt s st § o
T w d FE @ BE T

SECTION A (V& &)

1. . Make a mathematical. statement to differentiate the

numbers in ordinal and cardinal sense.

aﬁ'ﬁm}aﬁ?mﬁw.aﬁimaﬁaﬁﬁﬂﬁaﬁ%m
'wﬁmwm@, '

2. State two patterns that one can see in a four column

number chart starting with zero.

R W dew wE A e wR T A R
weﬁm%@mﬁ%’t

»

3. C'omplete the pattern : 4, 13, 17, 26, 30, 39,

P.T.O.



2819 . 1%

)

W T W o ARw 4,13, 17, 26,30, 39,

You are facing ‘east. To face north you will turn

clockwise by degrces

mﬁaﬁ@tgma@mﬁ?nmﬁmg@wﬁ%
e o et RE wa

“Convert 78 in base ten to an equivalent in base 12. _

-

w10 ¥ TSﬁWmlﬁﬁaﬁml

45% students of a class are boys. Express the ratio
of boys to girls in the simplest form.

wm%_#s%,maﬁ%zmmifﬁsﬁm
TR ¥ U e Sif ) B

If Renu drinks- 0:15 ml in each sip, she will take
sips to finish 15 ml.

trléqa?qtﬂhmsmﬁ-&r%zh ism[ﬁﬁﬁﬂaﬁ
—-— ??I%é’l?rl -

A polygon which can be divided into three triangles

will have sides.
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A rectangle with edges 6 cm and 3 cm has same area

and perimeter. Write the .dgmens:ons of another
rectangle -that satisfies the same property.

6cmsﬂt3cmﬁﬁlﬁﬁmam%amsﬁtqﬁmm
71 R Rl T o IR e @ s - e R )

Amita is x years older than Meenu who is ¥y years
old. How old will Amita be in 6 years ?

ﬁ#yaﬁaﬁ?eﬁtaﬁmﬁ?%xa&aﬁélwaﬁm
Ffar @ arg el B 7 T

Volume of a cube made by joining 8 small cubes of
edges 3 cm is .

3 em HR G sd%ﬁﬁ%_@wmmm‘mm
B : (11)

SECTIONS B (smt @)

-

There is one symbol that we have in Hindu Arabic
system but not in Egyptian system. With the help of
examples explain why this symbol is so important.

P.T.O.
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Compare how the presence of this symbol affects the
- process of addition and subtraction in both the systems:

v i e 3 o Rg- 9 e ¥ A @ weg Fed vl
F 78 2 1 Jeeen 9 AT ¥ e S g ydhE T
FeTaqw W B 7 g S & 3w Wi w0 o R v
= A TERA A IA S TR A e B w
a2 7

2. Make a word ﬁroblem on the each of the following
_situations : |

(a) Comp]eine;ntary addition and complimentary
Subtraction

(b) Equal 'sharing'and‘_equal grouping
feafofs ¥ s w3 & v = T Ty
(%) TH AN JN [H HqHAT

(ﬁ)wﬁf?@maﬂiww

+

3. In a type and token system of Base § the following
types were used in order $, & and #.

. (a) What does each type stand for ?-
(b) When will the next type .be needed ?

(¢) Write the equivalent of 164 in this system.
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ms%wmsﬂzﬂmwﬁﬁaﬁﬁ$aﬁtmd#-
ﬁﬁmﬁﬁaamﬁa%s@maﬂ%mw:

(m)mam,%aﬁa;ﬁmé
(ﬁ)mm,éﬁmmﬁaﬁ%
(w)sﬁmﬁaﬁﬁlma‘?m@ﬁﬁmr

- 4. With suitable examples highlight the importance and
" the difference between mean, mode and median.

| IUgE IV G WA, ﬁsaﬂtmﬁﬂma"waﬁtﬁ%
mﬁwa‘ﬁﬁm

5. Seema bought 9% m of lace at Rs. 14 i)er meter. She
is left with 36% of the lace: Find the cost of the lace
she has used.

& X 9y m Jw 14 % fiee A R W) TR
T 36% o w9 E | R S ww wm A o 3w ane.
EGICEE i ol

6. (a) In a house plan 2 ¢cm represents 5 meters. If the
height of the wall in the plan is 3 c¢m, find the.
actual height of the walI

' (b) Compare the number names in Enghsh and
Hmdl

P.T.O.
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(%) W B e A 2cm 5 m = Peflg w21 IR = m
¥ an & S 3cm%%ﬁﬁmaﬁwﬁmmm
R | '

(@) SR Ik BR ¥ v T B g A

7. A square when drawn on the Coordinate graph has
coordinates (1,1), (1,2), (2,2), (2,1).

(a) This square is scaled up by a factor of 2. Write
~ the coordinates of the new squaré. .

(b) By what factor has the area increased.?

ﬁ%‘mﬁwwmaﬁﬁﬂm%maﬁ%ﬁﬁfm(i,l),
(1,2), (2,2), (21)%‘|

(&% )ﬂﬁaﬁ2%mmww%|={qaﬁ%ﬁim‘
=t fofw

(@) o s g A ¥ R G R (6x4=24)

' (500)* ***



